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1. Sieve Analysis Data and Results 
 

Hint: all calculations to two decimal places 

 
Table 01: Sieve Analysis for Aggregate A, Cumulative Percent Passing For Aggregates B and C. 

Sieve 

No. 

Sieve Sieve Retained Retained Cumulative Retained Cumulative Passing 

opening opening Kg % % % 

mm ^0.45 A B C A B C A B C A B C 

1'' 25 4.26 
0.00 0.00 0.00 0 0 

0.00 0 0 
0.00 

100 100 
100.00 

3/4'' 19 3.76 
0.53 0.00 0.00 14 0 

0.00 14 0 
0.00 

86 100 
100.00 

1/2'' 12.5 3.12 
0.99 0.23 0.00 26.68 6.10 

0.00 40.68 6.10 
0.00 

59.32 93.9 
100.00 

3/8'' 9.5 2.75 
0.34 0.26 0.00 9.16 6.89 

0.00 49.84 12.99 
0.00 

50.16 87.01 
100.00 

#4 4.75 2.02 
0.59 0.29 0.00 15.90 7.69 

0.00 65.74 20.68 
0.00 

34.26 79.32 
100.00 

#8 2.38 1.48 
0.19 1.29 0.01 5.12 34.21 

0.63 70.86 54.89 
0.63 

29.14 45.11 
99.37 

#20 1.19 1.08 
0.19 0.38 0.39 5.12 10.08 

24.79 75.98 64.97 
25.43 

24.02 35.03 
74.57 

#50 0.3 0.58 
0.22 0.54 0.12 5.93 14.32 

7.67 81.91 79.29 
33.10 

18.09 20.71 
66.90 

#100 0.15 0.43 
0.22 0.24 0.01 5.93 6.37 

0.44 87.84 85.66 
33.54 

12.16 14.34 
66.46 

#200 0.075 0.31 
0.22 0.30 0.51 5.93 7.96 

32.59 93.77 93.62 
66.14 

6.23 6.38 
33.86 

pan 
 

 
0.22 0.24 0.53 5.93 6.37 

33.86 100 100 
100.00 

0 0 
0.00 

  
 Sum 

         

  
 3.71 3.77 

1.58 
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2. Aggregate Blending Results 
 

2.1 For three Aggregate Blend: 
 

 Two trials are required for the three aggregates blend, one with the initial guess from critical sieves, the other with the final percentages used. 

 Your remarks should include "ok", reject or "improve". 

 The final trial should be all of "ok" remark. 
Table 02: Aggregate Blending For Three Aggregate Calculations 
 

Aggregate 
Percent  

1'' 3/4'' 1/2'' 3/8'' #4 #8 #16 #50 #100 #200 
used 

A Original 100 86 59.32 50.16 34.26 29.14 24.04 18.09 12.16 6.23 

B Original 100 100 93.9 87.01 79.32 45.11 35.03 20.71 14.34 6.83 

C Original 
100.00 100.00 100.00 100.00 100.00 99.37 74.57 66.9 66.46 33.86 

Specification 

Upper 100 100 80 70 55 43 30 20 15 8 

Lower 100 85 68 52 35 23 14 5 5 1 

Median 100 92.5 74 61 45 33 22 12.5 10 4.5 

Aggregate 
Initial 

First Trial 
guess% 

A 53.6 53.6 46.1 31.8 26.89 18.36 15.62 12.89 9.7 6.52 3.34 

B 12.28 12.28 12.28 11.53 10.68 9.74 5.54 4.3 2.54 1.76 0.84 

C 34.12 34.12 34.12 34.12 34.12 34.12 33.91 25.44 22.83 22.68 11.55 

Blend 100 92.5 77.45 71.69 62.22 55.06 42.63 35.07 30.95 15.73 

Remark Ok Ok Ok Improve  Reject Reject Reject Reject Reject Reject 

Aggregate 
Final 

Final Trail 
guess% 

A 75 75 64.5 44.49 37.62 25.7 21.86 18.03 13.57 9.12 4.67 

B 24 24 24 22.54 20.88 19.04 10.83 8.41 4.97 3.44 1.64 

C 1 1 1 1 1 1 0.99 0.75 0.67 0.66 0.34 

Blend 100 89.5 68.03 59.5 45.73 33.68 27.18 19.21 13.23 6.65 

Remark Ok Ok Ok Ok Ok Ok Ok Ok Ok Ok  



4 | P a g e  
 

 
 

 

3. Sample of Calculations: 

3.1 No Sample of calculations is needed for sieve analysis, only fill the table. 

3.2 Put a detailed sample of calculations of the way finding the initial guess of aggregate percentages. Mention your critical 

sieve. 

Critical sieve of A ¾ “               Critical  sieve of  B #4 

For a: 

 100 – ¾ “ median = 100 - 92 .5 = 7.5  

 100 – 86 = 14      so      a = (7.5/14) * 100% = 53.6% 

For b: 

 100 - 61 = 39  

 100 - 50.16 = 49.84  

 39 - (0.536*49.84) = 12.28 % 

  For c:     

 100 – 53.6 – 12.28 = 34.12%     
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Skid Resistance & Asphalt 
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Skid resistance 
 

BPN 1 BPN2 BPN3 BPN4 Average 

55 54 48 51 52 
 

1. Skid resistance is a measure of the resistance of the pavement surface to 

sliding or skidding of vehicle. 

 

 

2. The test apparatus for skid resistance is British Pendulum Tester   

 

 

3. This test is made with (wet or dry) wet surface.  

Asphalt Extraction 
 

W1: Weight of test sample (g) 3000 

W2: Weight of ignited sample (g) 2830 
AC%: Bitumen content from sample weight 

(AC%) = (W1-W2)/W1 
5.67% 

 

4. The test method used is called National Center for Asphalt 

Technology (NCAT) Method. 

 

 

5. The aggregate is burned at which temperature 538ᵒC. 

 

 

6. One advantage of the test is more accurate and used to find aggregate 

gradation. 
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